20259 MY MEO|L SEE
[N MMz &2
(29l M)
N M=
=4 H| £ (%) = = =% H| 2 (%)
A4 4,064,206 4,256,721 192,515 5% 4 4,064,206 4,256,721 192,515 5%
A | Negag | 2 500 500 0 0% A Q17| 27 427,946 515,545 87,598|  20%
A= 500 500 0 0% =9 356,260 418,529 62,269 17%
HZE+Y axary 27 3,754,389 3,958,380 203,991 5% ERER R 30,873 37,894 7021|  23%
Enl-E 3= 2,086,329 2,240,599 154,270 7% PN L= 38,321 47,269 8,947 23%
NEEHZZ 507,314 534,369 27,055 5% CI7hE ALl 2,492 3,453 961 39%
ANZTEZZ 1,101,966 1,149,312 47,346 4% A M GH(RHREE) 0 8,400 8400 100%
JIEtR xS 58,780 34,100 -24,680 -42% ApH| AP | 24 1,403 1,630 228 16%
FHITY zazsg 27 7,000 6,000 1,000  -14% R m 1,000 28| 29%
AN82ea 5,000 3,000 -2,000 -40% 3|o|H| 630 630 0 0%
HXE2 A= 2,000 3,000 1,000 50% 23| EY 56,215 45,654 -10,561| -19%
ez ez | 10,000 10,000 (] 0% ofH]| 1,640 1,790 150 9%
Hes Hes golmea 10,000 10,000 0 0% +E8H YR 30,248 27,762 -2,486 -8%
oEz OlE= 24 253,617 242,741 -10,876 -4% 33822 12,400 5,600 -6800[  -55%
Hdzolgag 234,427 234,427 0 0% H A &a2 3,599 3,602 3 0%
HAZO|ESF (YD) 10,321 7,882 -2,439 -24% Apk| 3,960 3,500 -460|  -12%
HEzolEzE+Y) 6,385 432 -5,953 -93% 7|Et2 EH| 4,368 3,400 -968|  -22%
HHAZ Ol d S (LENA=RIRHEH 2,484 0 -2,484 100%| THEZgH Al 24 22,339 9,000 -13,339|  -60%
Y | mro 27 38,700 39,100 400 1% AlMEH QR H| 0 1,000 1,000{ #DIV/0!
7|EtOfl 5 Ol Rb= &) 300 300 0 0% ek SH| 22,339 8,000 -14,339|  -64%
7IEFE A 38,400 38,800 400 10| AFEH Abeid| 27 3,309,470 3,441,051 131,581 4%
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(EH9l: )
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o - = ;?f:v.-: 20254 S2Z(B)-(A) o - = 20244 20254 SZ(B)-(A)

tHA) of| (B) =o IEE) O &k(A) of| 2(B) ET] |2 (%)
THE2A 7,000 7,000 0 0%

INEEE 148,819 142,061 6,758 -5%

HEdg 27,638 29,000 1,362 5%

JtEateb NSt =X G S SH| 26,000 26,000 0 0%

ChE27tS SR U SAY 180,742 200,750 20,008 1%

CHE2H7HE AHe AU EX| ALY 81,180 125,220 44,040 54%

ZEO0|UR SHAMH| ALY 68,200 108,330 40,130 59%

LH| ZAAL 1| 37,500 42,216 4,716 13%

Agedus 10,000 10,000 0 0%

JHEOEH 20,000 20,000 0 0%

SEX AN 24 10,800 10,800 0 0%

O|5 Aol u x| 73,110 53,790 -19320|  -26%

ZE0| AR LSt SR AALY 24,500 24,500 0 0%

=zdotaste 125,000 125,000 0 0%

HEM+E 122,000 122,000 0 0%

HYSH 7MY =2 R2u= XA 5,000 6,000 1,000 20%

SSS0LHEH 56,712 58,244 1,532 3%

MALtEt olsf s 10,000 0 -10,000| -100%

ZE0|UR & ZHF SHEXE 4,500 3,000 -1,500  -33%

SS]0tLEH HEH Y 800 800 0 0%

OtO| S E X JAHY 2,129,538 2,246,410 116,872 5%

OfO|E &0 AZHZTIH| X 1,830 1,830 0 0%

OfO|EE 0] QOrNE oY E5+E 9,337 0 -9,337( -100%

UsHE A Ol AFE 38,000 38,000 0 0%

O|ZT2 7t &R 2,600 2,600 0 0%

5t EtER Y 2 4,000 0 -4,000( -100%
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2 a = ;ff:w: 2025'4 SZ(B)-(A) o 3 = 20244 2025'4 SZ(B)-(A)
tHA) ol ¢(B) =o I H2 (%) of| £k(A) | &(B) ET] |2 (%)
A= AF X AYE XY 14,000 0 -14,000{ -100%
ChEsteI | 84S 2ALY _#otote Chest Mgtas 5,000 0 -5,000( -100%
HEHH o|FH Fors Y[ 20,000 0 -20,000{ -100%
CHE2t7tE sh=7g% CHol§ Z2 X[ 8 31,180 31,500 320 1%
ZHE) = | R 2,484 0 2,484 -100%
KT&G SX|xH T 5,000 0 -5,000{ -100%
SUANGCIEUEH, 1SA7IX- S) 7,000 6,000 -1,000{  -14%
OHIHIHISEZIEE | OlEIHI 718 27 239,748 242,309 2,561 1%
grstzg 234,427 234,427 0 0%
oflHlE| 5,321 7,882 2,561 48%
BNE XIE 27 7,085 1,532 -5,553 -78%
wNE 7,085 1,532 5553 -78%




